1. Anurn contains 5 red and 5 black balls. A ball is drawn at random, its colour 1s
noted and 1s returned to the urn. Moreover, 2 additional balls of the colour drawn
are put in the urn and@gn a ball 1s drawn at random. What is the probability that

the second ball is red? Now the Frned 'T“b‘d"s"l:l‘
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2. A bag contains'4 red and 4 black balls, another bag contains 2 red and 6 black
balls.[One of the two bags 1s s‘lectg(-(’ilat random andia ball is drawn fro@ the bag

thich is red Fi probaﬁhﬁﬂ that the ball is draerm the
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4. In answering a question on a multiple choice test, a student@her knows) the
1
_answer oet 6: the probability that he knows the answer an
be the probability that e/ esses( Assuming that a student fho guesseS at the

hat 1s the probability that the stu-
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answer will be correct with probability

dentCﬁows the g@ leven thatfe amswered 1t correctly?
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5. A laboratory blood test 1g effectlve in detecting a certain diseasejwhen it is

in fact present. However The test also yields a false positive result ff
The | healthy person tested (i.e. if a healthy person 1s tested, then, with p‘roba D1 1ty

0.005) the test will imply he has the dlseaﬂ) If E) 1 percenp of the population

ctually_has the dlseas what 1s the probability that a person has the disease
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6. There are three coins. One is a two headed coin (having head on both faces),
another is a biased coin that comes up heads 75% of the time and third is an
unbiased coini One of the three coins is chosen at random and tossed, it shows

\/%ds@hat is the probability that it was the two headed coi
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